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TASK 1: Inwhich tense are the following sentences . Choose !
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Present Perfect - Past Continuous - Past Simple - Present Simple -

a

Present Continuous - Future Simple

b- She hasn't seen her friends for a long time .

f- She's writing aletter now . ...

Today is my birthday . ..., (1pt)

SRR ...

(ipt)

At 18:00 , they were playing a match . i (1pt)
They'll start there BEM on the 15 June . ...
I visited Spain lagt week . ...
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TASK 2 : Make the negative sentence affirmative and the the affirmative one negative:

a- SRR 1 3
Bt s s e R A S (1pt)
c- (1pt)
d- . .(1pt)
B A P PR S e (1pt)
f- . -(1pt)
TASK 3 : Match the opposites :
careful Old (1pt)
difficult Easy (ipt)
lazy careless (1pt)
new active (1p1)
TASK 4 : Complete the table :
Infinitive Past Tense Past Participle
TOCOME | s (1pt) | come
To do did SRR [:1 )
To take .(1pt) | taken
To cut cut )
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